Reasoning and Problem Solving: Rosie completes this subtraction
Subtracting More Than 4-Digits .
incorrectly.

Eva makes a 5-digit number. 2 87 01

Mo makes a 4-digit number.

The difference between their numbers is — 6 1
3465 ; 2

What could their numbers be?

NO
Q0
O

Explain the mistake to Rosie and correct

it for her.
Reasoning and Problem Solving: Rosie completes this subtraction
Subtracting More Than .

incorrectly.

Eva makes a 5-digit number. 2 87 01

Mo makes a 4-digit number.

The difference between their numbers is — 6 1
3465 ; 2

What could their numbers be? 2 1 1 80

Explain the mistake to Rosie and correct
it for her.




